
Protein synthesis:                    

     

 

 

 

 

                                                                                                     

Explain how a mutation on the DNA affects Protein 

Synthesis 

•  

 

•  

 

•  

 

 

Identify the amino acid at: 

• Codon 1: 
 

• Codon 2: 
 

• Codon 3: 

Translation: 

•  

 

•  

 

•  

 

•  

Describe the role of DNA in Protein synthesis: 

•  

 

•  

 
 
- 

Transcription: 

•  

•  

•  

•  

•  

•  

•  

•  

•  

 

Three consecutive basis on the 

tRNA is known as an                                                    

. 

Triplet 

Codons  1          2         3 

 
X 

Name the amino acid that would form at X, if a mutation 

caused Adenine to replace Uracil. Explain your Answer: 
 

•  
 

•  

What is given: DNA, mRNA or tRNA? 
                        Triplet / Codon or Anti Codon? 

Give 3 reasons why this diagram 
represents transcription 
•  

•  

•  

Functions of tRNA 

•  

•  


